SN RED
Yo DEYH W (RSLESR/HEDS - 22SIIE)
ool HEDSMUIA sS4 (cHol: &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2

DED 62,995,759 91,629,969 £28,634,210
= 9,437,989
= 25,589,000
I 4,247,000
A 72,000
= 23,649,770

DEHH HH(DSLER/HERS - 28SIIE) 35,870,996 34,661,537 1,209,459
= 2,237,989
= 9,663,000
p] 4,247,000
= 19,723,007

HEDSNUIA 4 21,343,473 21,083,959 259,514
= 2,204,664
= 8,178,000
ol 4,247,000
= 6,713,809

tHsws MblA i 406,840 417,416 210,576

201 L2yl 2,450 3,500 A1,050

01 At 22|l 2,450 3,500 A 1,050
OUZDE FEMHIAY =7 2,450

202 01| 29,750 29,750 0

01 2401 bl 29,750 29,750 0
OHZEDE 28 ¥ UIHAY SX &0 10,200
OO0 U HSXNEX S4AY KT 19,550

207 12K 2 bl 60,000 86,000 26,000

01 gl 60,000 86,000 26,000
OHEDNSSIN 2Y L NUIABI 8 60,000

403 XHXI GRS K20l ™ 314,640 253,166 61,474

01 UXISH =L E 314,640 253,166 61,474
OUURNSIEDE B#INHA 168,240
OSAl oHEAE M 18,900
CERI=C IVt 105,000
OMAHASLEANT 22012 MW 12,500
OSASLE FH XY 10,000

HAHA TUEX(27) 1,684,150 773,060 911,090
=2 1,295,500
= 388,650

403 XHXISHH S XHE 0| ® 1,684,150 773,060 911,090
=2 1,295,500
= 388,650

01 UXISHH =L E 1,684,150 773,060 911,090
OMAHA CUBE 1,684,150
= 1,295,500
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M WS
Hy: DEHH HH(RELSE/HSDS - 22 SIIEH)
¢tel: HsnsSMU A a4 (ctel &
. 4
SH- B (BAH) - HBEAMY - BES O &k o e Hl R =2
| = 388,650
SgUNSsH TUEX(2) 657,800 327,600 330,200
= 506,000
= 151,800
403 XSS AH201 ™ 657,800 327,600 330,200
= 506,000
= 151,800
01 AXIESMA2E L 657,800 327,600 330,200
OsSgunsst =Y 657,800
= 506,000
= 151,800
CAE nsSIL (B3 SHAN(21) 909,550 917,700 A8,150
= 350,000
= 559,550
308 XXIEM SO0l & 909,550 917,700 A8,150
= 350,000
= 559,550
01 AXNEHBAEEES 909,550 917,700 A8,150
O=sUHEXY S| LEHAI(Al) 909,550
z 350,000
= 559,550
sEE WsSILY (B3 ©A)(21) 1,398,136 1,336, 100 62,036
s 551,000
= 847,136
308 XXM S0 A 1,398,136 1,336, 100 62,036
=) 551,000
= 847,136
01 HXESHBILEXS 1,398,136 1,336, 100 62,036
OsHEXY SILEA(Z) 1,398,136
= 551,000
= 847,136
Al 2 EAAY (=) 288,600 156,000 132,600
= 288,600
308 XXM SO0l & 288,600 156,000 132,600
= 288,600
01 AXEHBAEES 288,600 156,000 132,600
OEAIZX K& 288,600
= 288,600
BARZE ItExr2 XN& 276,408 223,748 52,660
308 XXIEM SO0l & 276,408 223,748 52,660
01 IXEHHBAEEEXS 276,408 223,748 52,660
OHARS3 tEx2 XN 276,408
2T SEuEat 29IA (=) 4,247,000 4,439,000 A 192,000
| 4,247,000
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SN DED
Y DSHY HH(LSLER/HELS - 2RSIIE)
©9: HERSHUIA B4 (&9l &
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
201 LBt2 | 8,500 24,706 16,206
pJ 8,500
01 At 22t 8,500 12,100 13,600
ORI 242 Y SLUS4+H 2% B 8,500
b 8,500
307 212+0| ® 1,298,436 900,474 397,962
b 1,298,436
05 gI2tel et 1,298,436 900,474 397,962
OZAOSKAHE SIS Y] 1,298,436
pJ 1,298,436
308 XX EHAISOIA 2,940,064 3,513,820 573,756
b 2,940,064
01 HXSHBARES 2,940,064 3,513,820 573,756
ONZ SERS+o 29 X 2,940,064
b 2,940,064
SAE DERY(ZBY HA)(2D) 2,730,000 2,730,000 0
= 2,100,000
=3 630,000
308 XX EHASOIA 2,730,000 2,730,000 0
7 2,100,000
3 630,000
01 HXSHBARES 2,730,000 2,730,000 0
OTAE DEDY(DZE HA) 2,730,000
=) 2,100,000
= 630,000
SEH NS2Y(ZIY H2A)(21) 4,290,000 4,290,000 0
7 3,300,000
= 990,000
308 XXl EHAI S 0 & 4,290,000 4,290,000 0
7 3,300,000
= 990,000
01 HASHBAEES 4,290,000 4,290,000 0
Os28 DE2Y(I2E HA) 4,290,000
7 3,300,000
3 990,000
HAZSIMDX XA (2D) 3,128,000 4,185,000 ~1,057,000
=) 1,877,000
< 1,251,000
403 XtXI X S X201 & 3,128,000 4,185,000 A1,057,000
=) 1,877,000
< 1,251,000
01 HXSHI 22X 3,128,000 4,185,000 A 1,057,000
OHAZBYIMDX X8 3,128,000
7 1,877,000
= 1,251,000
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SN Y- SAEA) - MRAY - BES 01l &k o e 52
ZABISKE (2 1) 175,889 148,335 27,554
= 103,464
& 72,425
403 AXIEHHS X201 & 175,889 148,335 27,554
= 103,464
= 72,425
01 AXIEMAEEEX 175,889 148,335 27,554
OZYBISXI& 175,889
= 103,464
== 72,425
DZUH9 o2 =1 =& EH 1,140,000 1,140,000 0
201 24l 1,140,000 1,140,000 0
01 At 2tel ] 1,140,000 1,140,000 0
O22UH19 dHel =Xt =& 4 1,140,000
dEWSIHE XN (=1) 11,100 0 11,100
= 11,100
308 AUXIEHSOIA 11,100 0 11,100
= 11,100
01 AIXSHHBHEXS 11,100 0 11,100
OZs=wsite XA 11,100
= 11,100
aswns MEXRE 14,127,600 13,213,600 914,000
s 1,485,000
& 12,642,600
AMNAHA2SAMY HEXR 5,930,000 5,930,000 0
307 glztol A 5,930,000 5,930,000 0
09 2+LAHEXS 5,930,000 5,930,000 0
OANMABAZ2EAY HEXA 4,400,000
OANAHA 2BAN 220H2AH HEXE 1,530,000
AN - SHEHA2SAY HEXE 5,542,600 5,542,600 0
308 AUXIEHSOIA 5,542,600 5,542,600 0
O1 AXSHHBAEES 5,542,600 5,542,600 0
OAUY - SHEHA2SAIY HEXA 4,900,000
OANU - sHEHZA 2=SALA 220 A KA
A& 642,600
HALd 2MEA(=D) 2,475,000 1,545,000 930,000
s 1,485,000
= 990,000
308 UXIEHSOIA 2,475,000 1,545,000 930,000
s 1,485,000
= 990,000
01 HXHHBLEXS 2,475,000 1,545,000 930,000
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M DS
HH: DS W (RSLSF/HSLS - S7SIIEH
el sns MEXA (et
% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
Ogls 484 2,475,000
s 1,485,000
= 990,000
X BEHA XA 60,000 60,000 0
308 AUXIEHSOIA 60,000 60,000 0
01 HXESHBILAEEXS 60,000 60,000 0
O2X sgHA XA 60,000
HAZSAMGEA IS HEEY 120,000 110,000 10,000
207 A O] 120,000 110,000 10,000
01 A E 9| 120,000 110,000 10,000
OBAZSANERN X2 BSEH 120,000
ns - =F4Y =4 19,000 17,000 2,000
ns - SROUY 243 FA 19,000 17,000 2,000
201 L2 | 19,000 17,000 2,000
01 At 22|l 19,000 17,000 2,000
Ousz0or A= 23 19,000
SAMLD S0 A=A 380,923 346,978 33,945
= 33,325
S 347,598
SAMNLD E010] AHEXA 337,600 278,500 59,100
307 glz2tol & 19,600 17,500 2,100
02 QIZtE &AL E X 19,600 17,500 2,100
OusEetd Zst2s HN 19,600
308 AUXIEHSOIA 318,000 210,000 108,000
01 HXESHBILAEEXS 114,000 60,000 54,000
ONA2MLNT WSetd AMHX 114,000
11 S 2S0tHeE & H2E A 204,000 150,000 54,000
O2+3AL SHd E= 204,000
HANSHSEX X XNA(21) 43,323 68,478 A 25,155
= 33,325
= 9,998
403 XM S0l & 43,323 68,478 A 25,155
= 33,325
< 9,998
01 RIXIEHM A2 E = 43,323 68,478 A 25,155
OANYE XHE HIENSHS 43,323
= 33,325
= 9,998
NEHMEH NE(REXER/E2) 27,092,900 56,935,000 229,842,100
= 7,200,000
Eas 15,926,000
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FN 1S
M NSHdEE
mE—=

S

SA B S (BH) - MEMY - BES Ol & 24 e BlRE2

ES 72,000
< 3,894,900

DEGHAIL &5 27,092,900 56,935,000 ~29,842,100
= 7,200,000
z 15,926,000
A 72,000
= 3,894,900

DENFAE TF L FH AL 72,000 97,000 ~25,000
P 72,000

403 XHXISHHI S X2 0| ® 72,000 97,000 ~25,000
P 72,000

01 X SHA X2 2 = 72,000 97,000 ~25,000
OMENHAIL 2S 72,000
A 72,000

ORI0IEE2Y HAA(E)(2D) 780,000 720,000 60,000
z 390,000
< 390,000

401 A2 HIZ 2T b 780,000 720,000 60,000
z 390,000
< 390,000

01 Al& 780,000 720,000 60,000
oooEERA HA 780,000
7 390,000
= 390,000

O2I0I25 2 JHEA (AZ)(ZD) 2,054,000 2,410,000 A356,000
z 2,054,000

403 KX SHH S X =0l & 2,054,000 2,410,000 356,000
7 2,054,000

01 IXISHRI K =28 = 2,054,000 2,410,000 356,000
ooRoIEERA KA 2,054,000
z 2,054,000

N ITS 25 X (2D) 7,680,000 33,920,000 26,240,000
= 7,200,000
= 480,000

403 REXI S HIS X0l & 7,680,000 33,920,000 26,240,000
= 7,200,000
= 480,000

01 X SH=2EE 7,680,000 33,920,000 26,240,000
OXNXH ITS 2= K& 7,680,000
= 7,200,000
= 480,000

E=REY HAAMY(2D) 13,345,900 12,968,000 377,900
z 10,886,000
< 2,459,900

403 XX CHH S X201 & 13,345,900 12,968,000 377,900
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A WS
Y DENNHY N (DELER/E2)
Chel: NSUHEAL &= (ctel &
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
s 10,886,000
< 2,459,900
01 HXESHA2E = 13,345,900 12,968,000 377,900
OFxetd He 13,345,900
s 10,886,000
= 2,459,900
HEloIEE 7Y RANEHRHH S X (et )( 2,596,000 6,250,000 A 3,654,000
=7)
s 2,596,000
403 XAXISHMSA=201 A 2,596,000 6,250,000 A 3,654,000
s 2,596,000
01 HXEMAEEE 2,596,000 6,250,000 A 3,654,000
O0elEs7Y ReANstsZH S & 2,596,000
s 2,596,000
LoES Y HEASE (AZ)(EEAY) 145,000 0 145,000
403 XSS AH201H 145,000 0 145,000
01 XIS E2EXE 145,000 0 145,000
OLQESTY NH(HE) 145,000
LoES2Y HEAE (Z)(HEALY) 420,000 0 420,000
401 AIEHIZ 201 8] 420,000 0 420,000
01 AIEHI 420,000 0 420,000
OLQESTY NH(HE) 420,000
HY2IHH (RS)(IIEHIIE 31,863 33,432 A 1,569
Jl2&dl 31,863 33,432 A 1,569
fA29 Jl2&l 31,863 33,432 A 1,569
201 22| 22,449 23,676 A1,227
01 At 22l tl 22,449 23,676 A,227
ORA2YE MRl 22,449
202 (4l 5,814 6,156 A 342
01 2 LA BI 5,814 6,156 A 342
ORM2E =W 5,814
203 =&Yl 3,600 3,600 0
04 FN2EHRFTH| 3,600 3,600 0
©20¢! olat 300,000& 12& 3,600

- 847 -






